Section Code	Section Offense Description	ORC	Misdemeanor	Fine	Costs	Total
	_	Equivalent	Type			
70.03	Compliance with Order of Police Officer	2921.331	M-1	COURT	COURT	COURT
	Prohibitions Against Resisting a Traffic					
70.04	Officer	4513.36	MM	120.00	75.00	195.00
	Emergency Vehicles to Proceed Past Red or					
70.05	Stop Signal	4511.03	MM	75.00	75.00	150.00
70.07	Prohibitions on Use of Freeways	4511.051	MM	60.00	75.00	135.00
70.10	Obeying Traffic Control Devices	4511.12	MM	60.00	75.00	135.00
70.11	Signal Lights	4511.13	MM	75.00	75.00	150.00
70.13	Pedestrian-Control Signals	4511.14	MM	25.00	75.00	100.00
70.14	Flashing Traffic Lights	4511.15	MM	60.00	75.00	135.00
70.15	Unauthorized Signs and Signals	4511.16	MM	60.00	75.00	135.00
	Tampering with Sign, Device, or Manhole					
70.16 (A)(1)	Cover	4511.17	M-3/M-1	COURT	COURT	COURT
or (3)						
70.16(A)(2)	Tampering with Sign, Device, or Manhole	4511.17	MM	100.00	75.00	175.00
	Cover					
70.17	Unnecessary Horn Blowing	N/A	MM	50.00	75.00	125.00
70.19	Permitting or Authorizing Violations	N/A	MM	60.00	75.00	135.00
70.20	Throwing Objects at/from a Vehicle	N/A	MM	90.00	75.00	165.00
70.24	Signal Pre-emption Devices	4511.031	M-4/M-1	COURT	COURT	COURT
71.01	False Statements	4507.36	M-1	COURT	COURT	COURT
71.02	Permitting Unlicensed Driver	4507.02	<6 Mos.: MM	75.00	75.00	150.00
			>6 Mos.: M-4	COURT	COURT	COURT
			M-1	COURT	COURT	COURT
71.03	Produce License on Demand	4507.35	UM	175.00	75.00	250.00
71.04	Improper Display	4507.30	M-1	COURT	COURT	COURT
71.05A	Permitting Minor to Operate Vehicle	4507.31	M-1	COURT	COURT	COURT
71.05B-D	Temporary Permit, Probationary License	4507.05	MM	90.00	75.00	165.00
71.07	Employment of Minor to Operate Taxicab	4507.05	M-1	COURT	COURT	COURT
71.08	Lending Vehicle to Another	4511.203	UM/M-1	COURT	COURT	COURT
71.101	Driving Under Suspension	4510.11	UM/M-1	COURT	COURT	COURT
71.102	Operating Motor Vehicle Without	4510.12	UM	175.00	75.00	250.00
	Valid License		MM if expired only	75.00	75.00	150.00

		or Junuary 2023				
71.102		4510.12	M-1		COURT	
			If second offense			
71.103	Driving Under OVI Suspension	4510.14	M-1	COURT	COURT	COURT
71.104	Driving Under FRA Suspension	4510.16	UM	COURT	COURT	COURT
71.105	Failure to Reinstate License	4510.21	UM	COURT	COURT	COURT
71.15	Display of License Plates	4503.21	MM	60.00	75.00	135.00
71.15B	Display of Temporary License Plates	4503.21	MM	60.00	75.00	135.00
71.16	Use of Unauthorized Plates	4549.08	M-4	COURT	COURT	COURT
71.17	Operating without License Plates	4549.10	MM	60.00	75.00	135.00
71.18	Operating with Number of Former Owner	4549.11	MM	60.00	75.00	135.00
	Resident Operating with Plates Issued by					
71.19	Other State	4549.12	MM	60.00	75.00	135.00
72.01	Lanes of Travel on Roadways	4511.25	MM	60.00	75.00	135.00
72.02	Marked Lanes	4511.33	MM	75.00	75.00	150.00
72.03	Vehicles Traveling in Opposite Directions	4511.26	MM	60.00	75.00	135.00
72.04	Overtaking and Passing of Vehicles	4511.27	MM	60.00	75.00	135.00
72.05	Passing on the Right	4511.28	MM	75.00	75.00	150.00
72.06	Left of Center	4511.29	MM	90.00	75.00	165.00
72.07	Prohibit Driving on Left Side of Roadway	4511.30	MM	60.00	75.00	135.00
72.08	Hazardous Zones	4511.31	MM	60.00	75.00	135.00
	One Way Highways and Rotary Traffic					
72.09	Islands	4511.32	MM	60.00	75.00	135.00
72.10	Divided Roadways	4511.35	MM	60.00	75.00	135.00
72.11	Space Between Moving Vehicles	4511.34	MM	60.00	75.00	135.00
72.12	Rules for Turns at Intersections	4511.36	MM	60.00	75.00	135.00
72.13	Turning in Roadway Prohibited	4511.37	MM	60.00	75.00	135.00
72.14	Rules for Starting and Backing Vehicles	4511.38	MM	60.00	75.00	135.00
72.15	Turn and Stop Signals	4511.39	MM	60.00	75.00	135.00
72.16	Hand and Arm Signals	4511.40	MM	60.00	75.00	135.00
72.20	Right-of-Way at Intersections	4511.41	MM	60.00	75.00	135.00
72.21	Right-of-Way When Turning Left	4511.42	MM	90.00	75.00	165.00
	Right-of-Way Through Highways, Stop					
72.22	Signs, Yield Signs	4511.43	MM	75.00	75.00	150.00
72.23	Stop at Sidewalk Area	4511.431	MM	60.00	75.00	135.00

		01 January 2023			1	
72.24	Right-of-Way on Public Highway	4511.44	MM	90.00	75.00	165.00
72.25	Right-of-Way of Public Safety Vehicles	4511.45	M-4	COURT	COURT	COURT
72.26	Funeral Procession Has Right-of-Way	4511.451	MM	60.00	75.00	135.00
72.30	Stop Signs at Grade Crossings	4511.61	MM	60.00	75.00	135.00
72.31	Driving Vehicle Across RR Grade Crossing	4511.62	M-4	COURT	COURT	COURT
72.32	Vehicles Required to Stop at Grade	4511.63	MM	90.00	75.00	165.00
	Crossings					
72.33	Slow Moving Vehicles Crossing RR Tracks	4511.64	MM	60.00	75.00	135.00
72.35	Obstructing View and Control of Driver	4511.70	MM	60.00	75.00	135.00
72.36	Occupying Tractor Trailer While in Motion	4511.701	MM	60.00	75.00	135.00
72.37	Driving on Closed Highway	4511.71	MM	60.00	75.00	135.00
72.38	Driving on Sidewalk Area	4511.711	MM	60.00	75.00	135.00
72.39	Obstructing Passage of Vehicles	4511.712	MM	75.00	75.00	150.00
72.40(A)	Following Emergency or Public Vehicle	4511.72	MM	120.00	75.00	195.00
72.40(B)	Approaching Stopped Public Safety Vehicle	4511.213	MM	120.00	75.00	195.00
72.41	Driving Over Unprotected Fire Hose	4511.73	MM	90.00	75.00	165.00
			Division A: MM	90.00	75.00	165.00
72.42	Placing Injurious Material on Highway	4511.74	Division B: M-1	COURT	COURT	COURT
72.43	Driving on Play Street	N/A	MM	60.00	75.00	135.00
72.44	Failure to Use Child Restraint System	4511.81	MM	60.00	75.00	135.00
72.45	Depositing Litter from a Motor Vehicle	4511.82	M-3	COURT	COURT	COURT
72.46	Operating Vehicle Wearing Earphones	4511.84	MM	60.00	75.00	135.00
72.47	Unnecessary Noise	N/A	MM	90.00	75.00	165.00
72.48	Texting While Driving	4511.204	MM	120.00	75.00	195.00
72.49	Use of Electronic Device By	4511.205	MM	150.00	75.00	225.00
	Minors/Probationary Drivers					
72.50	Speeding by Railroad Train	N/A	MM	120.00	75.00	195.00
72.51	Train Blocking Public Way	N/A	MM	100.00	75.00	175.00
			Division A: M-1	COURT	COURT	COURT
73.01	Driving Under Influence of Alcohol or	4511.19	Division B: M-4	COURT	COURT	COURT
	Drugs					
73.012	Physical Control Under Influence	4511.194	M-1	COURT	COURT	COURT
73.02	Impaired Alertness	4511.79	MM	100.00	75.00	175.00
73.04	Reasonable Control	4511.202	MM	90.00	75.00	165.00
73.05	Reckless Operation	4511.20	MM	120.00	75.00	195.00

	===,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,					
73.06	Reckless Operation Elsewhere than Streets	4511.201	MM	120.00	75.00	195.00
73.10A	Assured Clear Distance	4511.21	MM	90.00	75.00	165.00
73.10	Speeding	4511.21	MM			
	1-10 M.P.H. Over Posted Speed Limit			50.00	75.00	125.00
	11-15 M.P.H. Over Posted Speed Limit			60.00	75.00	135.00
	16-20 M.P.H. Over Posted Speed Limit			75.00	75.00	150.00
	21-25 M.P.H. Over Posted Speed Limit			90.00	75.00	165.00
	26 M.P.H.+ Over the Posted Speed Limit			120.00	75.00	195.00
	Speed School Zone			120.00	75.00	195.00
73.11	Slow Speed or Stopping	4511.22	MM	60.00	75.00	135.00
73.12	Emergency Vehicle/Speed Limit	4511.24	MM	120.00	75.00	195.00
73.13	Street Racing Prohibited	4511.251	M-1	COURT	COURT	COURT
73.14	Crossing, Entering, or Exiting	N/A	MM	50.00	75.00	125.00
73.20	Stopping After Accident	4549.02	M-1	COURT	COURT	COURT
73.21	Stopping After Accident with Injury	4549.021	M-1	COURT	COURT	COURT
73.22	Stopping After Accident Damage to	4549.03	M-1	COURT	COURT	COURT
	Property					
73.25	Operation Restricted For Mini-Trucks and	4511.214	MM	60.00	75.00	135.00
	Low Speed, Under-speed or Utility Vehicles					
73.27	Immobilizing or Disabling Device Violation	4510.44	M-1	COURT	COURT	COURT
74.01	Lighted Lights Required	4513.03	MM	50.00	75.00	125.00
74.02	Headlights Required	4513.04	MM	50.00	75.00	125.00
74.03	Two Headlights Displayed	4513.14	MM	50.00	75.00	125.00
74.04	Headlights: Intensity	4513.15	MM	50.00	75.00	125.00
74.05	Lights of Less Intensity	4513.16	MM	50.00	75.00	125.00
74.06	Focus and Aim of Headlights	4513.19	MM	50.00	75.00	125.00
74.07	Taillights, Illumination of Rear License	4513.05	MM	50.00	75.00	125.00
	Plate					
74.08	Red Reflectors Required	4513.06	MM	50.00	75.00	125.00
74.09	Stoplight Regulations	4513.071	MM	50.00	75.00	125.00
74.10	Lights on Parked Vehicles	4513.10	MM	50.00	75.00	125.00
74.11	Cowl, Fender, and Back-Up Lights	4513.13	MM	50.00	75.00	125.00
74.12	Spotlight and Auxiliary Driving Lights	4513.12	MM	50.00	75.00	125.00
	Number of Lights Permitted, Red and					

	<u> </u>	or January 2023				
74.13	Flashing Lights	4513.17	MM	50.00	75.00	125.00
74.15	Red Light or Flag Required	4513.09	MM	50.00	75.00	125.00
	Lights on Slow Moving or Animal-Drawn					
74.16	Vehicles	4513.11	MM	50.00	75.00	125.00
74.17	Safety Lights on Commercial Vehicles	4513.07	MM	50.00	75.00	125.00
	Lights on Snow Removal Equipment and					
74.18	Oversize Vehicles	4513.18	MM	50.00	75.00	125.00
	Lights/Sign on Transportation for Preschool					
74.20	Children	4513.182	MM	50.00	75.00	125.00
74.25	Brake Equipment	4513.20	MM	50.00	75.00	125.00
74.26	Brake Fluid	4513.201	MM	50.00	75.00	125.00
74.27	Standards for Brakes	4513.202	MM	50.00	75.00	125.00
74.30	Horns, Sirens, and Warning Devices	4513.21	MM	50.00	75.00	125.00
74.31	Directional Signals	4513.261	MM	50.00	75.00	125.00
74.32	Extra Signal Equipment	4513.27	MM	50.00	75.00	125.00
74.33	Warning Devices on Disabled Vehicles	4513.28	MM	50.00	75.00	125.00
74.35	Windshields and Wipers	4513.24	MM	50.00	75.00	125.00
	Safety Glass, Tinted Glass, Reflectorized					
74.36	Material	4513.26	MM	50.00	75.00	125.00
74.37	Rearview Mirrors	4513.23	MM	50.00	75.00	125.00
74.40	Bumpers on Vehicles	4513.021	MM	50.00	75.00	125.00
74.41	Mufflers; Excessive Smoke or Gas	4513.22	MM	50.00	75.00	125.00
74.42	Solid Tire Requirements	4513.25	MM	60.00	75.00	135.00
74.44	Vehicles Transporting Explosives	4513.29	MM	50.00	75.00	125.00
	Wheel Protectors on Heavy Commercial					
74.45	Vehicles	5577.11	MM	25.00	75.00	100.00
74.46	Maximum Width, Height, and Length	5577.05	MM	50.00	75.00	125.00
74.47	Occupant Restraining Devices	4513.263	MM			
	Driver			30.00	75.00	105.00
	Allowing Unrestrained Passenger			60.00	75.00	135.00
	Passenger			20.00	75.00	95.00
	Operating Taxicab Without Restraints			60.00	75.00	135.00
	Window Tinting, Sun screening, and					
74.48	Reflectorized Materials	4513.241	MM	50.00	75.00	125.00
74.49	Airbags	4549.20	M-1	COURT	COURT	COURT

	110705000	01 000000000000000000000000000000000000				
74.51	Loads Shall Be Properly Secured	4513.31	MM	150.00	75.00	225.00
74.52	Towing Requirements	4513.32	MM	50.00	75.00	125.00
74.53	Excess Weights Prohibited	5577.02	MM-M4	COURT	COURT	COURT
74.54	Permit to Exceed Load Limits	4513.34	MM	50.00	75.00	125.00
74.55	Weight of Load, Width of Tire	5577.03	MM-M4	COURT	COURT	COURT
74.56	Restrictions for Pneumatic-Tired Vehicles	5577.04	MM	25.00	75.00	100.00
74.57	Load Extension on Left Side of Vehicle	4513.30	MM	50.00	75.00	125.00
74.58	Trucks Prohibited on Residential Streets	N/A	MM	50.00	75.00	125.00
75.02	Operation of Motorized Bicycle	4511.521	MM	25.00	75.00	100.00
	Rules for Bicycles, Motorcycles, and					
75.03	Snowmobiles	4511.53	MM	25.00	75.00	100.00
	Prohibit Attaching Bicycles/Sleds to					
75.04	Vehicles	4511.54	MM	25.00	75.00	100.00
75.05	Bicycles Riding Abreast	4511.55	MM	25.00	75.00	100.00
75.06	Signal Devices on Bicycle	4511.56	MM	25.00	75.00	100.00
75.07	Riding Bicycles on Sidewalks	N/A	MM	25.00	75.00	100.00
75.08	Safety Equipment Required: Helmets	N/A	MM	50.00	75.00	125.00
76.01	Prohibit Parking on Highways	4511.66	MM	50.00	0	50.00
76.02	Motor Vehicle Left Unattended	4511.661	MM	50.00	0	50.00
76.04	Parking Prohibitions	4511.68	MM	50.00	0	50.00
76.05	Parking Near Curb	4511.69	MM	50.00	0	50.00
76.05F	Handicapped Parking	4511.69F	MM	250.00	0	250.00
76.06	Washing or Repairing Vehicles	N/A	MM	50.00	0	50.00
77.01	School Bus Regulations	4511.75		COURT	COURT	COURT
77.03	Restrictions on Operation of School Buses	4511.76	MM	120.00	75.00	195.00
77.04	School Bus Inspections	4511.761	MM	120.00	75.00	195.00
77.05	School Bus Not Used for School Purposes	4511.762	MM	60.00	75.00	135.00
77.06	Licensing by Department of Public Safety	4511.763	MM	60.00	75.00	135.00
77.07	Registration of School Buses	4511.764	MM	60.00	75.00	135.00
77.08	School Bus Markings	4511.77	MM	60.00	75.00	135.00
77.09	Flashing Red and Amber Lights	4511.771	MM	60.00	75.00	135.00
78.01	Pedestrians Walking Along Highway	4511.50	MM	30.00	75.00	105.00
78.02	Pedestrian on Sidewalk has Right-of-Way	4511.441	MM	60.00	75.00	135.00
78.03	Pedestrians on Crosswalks	4511.49	MM	30.00	75.00	105.00

78.04(A,D)	Pedestrian on Crosswalk has Right-of-Way	4511.46	MM	60.00	75.00	135.00
78.04(B)			MM	60.00	75.00	105.00
78.05	Right-of-Way Yielded by Pedestrian	4511.48	MM	25.00	75.00	100.00
78.06	Pedestrians Yield to Public Safety Vehicle	4511.452	MM	25.00	75.00	100.00
78.07	Right-of-Way Yielded to Blind Pedestrian	4511.47	MM	60.00	75.00	135.00
78.08	Pedestrian on Bridge or Railroad Crossing	4511.511	MM	60.00	75.00	135.00
78.09	Soliciting Rides, Riding Outside of Vehicle	4511.51	MM	60.00	75.00	135.00
78.10	Intoxicated Pedestrian	4511.481	MM	100.00	75.00	175.00
78.11	Boarding/Exiting Trains	N/A	MM	120.00	75.00	195.00
78.13	Operation of Motorized Wheelchairs	4511.512	MM	60.00	75.00	135.00
80.01	Overnight Parking Prohibited	N/A	MM	60.00	0	60.00
80.02	Operation Limited to Vehicular Areas	N/A	MM	60.00	75.00	135.00
80.03	Vehicles Impeding or Interfering with Work	N/A	MM	60.00	75.00	135.00
80.04	Working on Vehicles Prohibited in Parks	N/A	MM	50.00	0	50.00
90.01	Intoxicating Liquor	N/A	MM	100.00	75.00	175.00
90.02	Alcoholic Beverages on Public Property	N/A	MM	75.00	75.00	150.00
90.03	Open Container Prohibited	4301.62	MM	75.00	75.00	150.00
90.04	Consumption in Motor Vehicle	4301.64	M-4	COURT	COURT	COURT
90.05	Obstructing Search of Premises	N/A	M-4	COURT	COURT	COURT
90.06(B)	Alcohol Vaporizing Device	4301.65	M-3	COURT	COURT	COURT
90.06(C)		4301.65	MM	120.00	75.00	195.00
91.01	Riding Animals on Streets	N/A	MM	60.00	75.00	135.00
91.02	Animals Running At Large	N/A	MM	100.00	75.00	175.00
91.03	Cruelty to Animals	N/A	MM	60.00	75.00	135.00
91.04	Harboring Annoying Animals	N/A	MM	60.00	75.00	135.00
91.05	Dogs Running at Large (Not Menacing – 1 st Violation)	N/A	MM	100.00	75.00	175.00
	Dogs Running at Large (Menacing – 1 st Violation	955.11(A)(2)	MM	150.00	75.00	225.00
	Dogs Running at Large – 2 nd Violation in 12 Months	N/A	M4	250.00	75.00	325.00
91.06	Poisoning Animals	N/A	MM	60.00	75.00	135.00

91.07 Swine Prohibited N/A MM 60.00 75.00 135.00 135.00 191.08 Fowl Running at Large N/A MM 100.00 75.00 135.00 191.09 Rabies Inoculation N/A MM 100.00 75.00 175.00 175.00 191.10 Rabies Tag N/A MM 100.00 75.00 175.00 175.00 191.11 Certifact of Rabies Inoculation N/A MM 100.00 75.00 175.00 191.12 Failure to Show Certificate N/A MM 100.00 75.00 175.00 191.13 Dog Exposed to Rabies N/A MM 100.00 75.00 175.00 191.13 Dog Exposed to Rabies N/A MM 100.00 75.00 175.00 191.14 Injuring Squirrels or Birds N/A MM 60.00 75.00 135.00 191.15 Capturing Squirrels or Birds N/A MM 60.00 75.00 135.00 191.16 Reporting Escape of Certain Animals 2927.21 M-1 COURT COURT COURT 91.17 Hunting/Trapping Animals Prohibited N/A M.3 COURT COURT COURT 20.02 Trap Door Required N/A MM 60.00 75.00 135.00 192.03 Stove Pipes N/A MM 60.00 75.00 135.00 192.04 Disposal of Ashes N/A MM 60.00 75.00 135.00 192.05 Damaging Fire Equipment N/A MM 100.00 75.00 175.00 192.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 175.00 192.36 Stove Pipes N/A MM 100.00 75.00 175.00 192.37 Fire Alarm Maintenance N/A 500.00 500.00 75.00 575.00 193.01 Garbage; Collection N/ MM 50.00 75.00 155.00 193.01 Garbage; Collection N/A MM 60.00 75.00 135.00 193.04 Dumping Ground N/A MM 60.00 75.00 135.00 193.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 193.01 Weeds and Grass N/A MM 60.00 75.00 135.00 193.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM 60.00 75.00 135.00 194.02 Smoke N/A MM 60.00 75.0		110,00000	01 000000000000000000000000000000000000				
91.09 Rabies Inoculation N/A MM 100.00 75.00 175.00 91.10 Rabies Tag N/A MM 100.00 75.00 175.00 91.11 Certificate of Rabies Inoculation N/A MM 100.00 75.00 175.00 91.12 Failure to Show Certificate N/A MM 100.00 75.00 175.00 91.13 Dog Exposed to Rabies N/A MM 100.00 75.00 175.00 91.14 Injuring Squirrels or Birds N/A MM 60.00 75.00 135.00 91.15 Capturing Squirrels or Birds N/A MM 60.00 75.00 135.00 91.16 Reporting Escape of Certain Animals 2927.21 M-1 COURT COURT COURT 91.17 Hunting/Trapping Animals Prohibited N/A M-3 COURT COURT COURT 92.02 Trap Door Required N/A MM 60.00 75.00 135.00 92.03 Stove Pipes N/A MM 60.00 75.00 135.00 92.04 Disposal of Ashes N/A MM 60.00 75.00 135.00 92.05 Damaging Fire Equipment N/A MM 60.00 75.00 135.00 92.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 92.23 Smoke Alarms Required in Multi-Family Smoke Alarm Maintenance N/A S00.00 S00.00 75.00 575.00 92.37 Fire Alarm Maintenance N/A S00.00 S00.00 75.00 575.00 93.01 Garbage; Collection N/ MM S0.00 75.00 575.00 93.02 Nuisance/Hazard About Property Prohibited N/A MM S0.00 75.00 135.00 93.03 Dumping Ground N/A MM S0.00 75.00 135.00 93.04 Dumping N/A MM S0.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A MM S0.00 75.00 135.00 93.06 Depositing Litter on Public/Private Property N/A MM S0.00 75.00 135.00 93.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM S0.00 75.00 135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM S0.00 75.00 135.00 94.03 Loud Noises N/A MM S0.00 75.00 135.00 95.04	91.07	Swine Prohibited	N/A	MM	60.00	75.00	135.00
91.10	91.08	Fowl Running at Large	N/A	MM	60.00	75.00	135.00
91.11 Certificate of Rabies Inoculation N/A MM 100.00 75.00 175.00 91.12 Failure to Show Certificate N/A MM 100.00 75.00 175.00 91.13 Dog Exposed to Rabies N/A MM 100.00 75.00 175.00 91.14 Injuring Squirrels or Birds N/A MM 60.00 75.00 135.00 91.15 Capturing Squirrels or Birds N/A MM 60.00 75.00 135.00 91.16 Reporting Escape of Certain Animals 2927.21 M-1 COURT COURT COURT 91.17 Hunting/Trapping Animals Prohibited N/A M-3 COURT COURT COURT 92.02 Trap Door Required N/A MM 60.00 75.00 135.00 92.03 Stove Pipes N/A MM 60.00 75.00 135.00 92.04 Disposal of Ashes N/A MM 60.00 75.00 135.00 92.05 Damaging Fire Equipment N/A MM 60.00 75.00 175.00 92.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 92.23 Smoke Alarms Required in Multi-Family Smoke Alarms Required in Multi-Family Smoke Alarms Required in Multi-Family Smoke Alarm Maintenance N/A 500.00 500.00 75.00 575.00 93.01 Garbage; Collection N/A MM 50.00 75.00 135.00 93.02 Nuisance/Hazard About Property Prohibited N/A MM 60.00 75.00 135.00 93.03 Dumping Ground N/A MM 60.00 75.00 135.00 93.04 Dumping Fround N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 93.06 Depositing Litter on Public/Private Property N/A M-3 COURT COURT	91.09	Rabies Inoculation	N/A	MM	100.00	75.00	175.00
91.12 Failure to Show Certificate N/A MM 100.00 75.00 175.00 91.13 Dog Exposed to Rabies N/A MM 100.00 75.00 175.00 91.14 Injuring Squirrels or Birds N/A MM 60.00 75.00 135.00 91.15 Capturing Squirrels or Birds N/A MM 60.00 75.00 135.00 91.16 Reporting Escape of Certain Animals 2927.21 M-1 COURT COURT COURT 91.17 Hunting/Trapping Animals Prohibited N/A M-3 COURT COURT COURT 92.02 Trap Door Required N/A MM 60.00 75.00 135.00 92.03 Stove Pipes N/A MM 60.00 75.00 135.00 92.04 Disposal of Ashes N/A MM 60.00 75.00 135.00 92.05 Damaging Fire Equipment N/A MM 100.00 75.00 175.00 92.21 Fireworks- Sale or Use Prohibited	91.10	Rabies Tag	N/A	MM	100.00	75.00	175.00
91.13 Dog Exposed to Rabies N/A MM 100.00 75.00 175.00 91.14 Injuring Squirrels or Birds N/A MM 60.00 75.00 135.00 91.15 Capturing Squirrels or Birds N/A MM 60.00 75.00 135.00 91.16 Reporting Escape of Certain Animals 2927.21 M-1 COURT COURT COURT 91.17 Hunting/Trapping Animals Prohibited N/A M-3 COURT COURT COURT 92.02 Trap Door Required N/A MM 60.00 75.00 135.00 92.03 Stove Pipes N/A MM 60.00 75.00 135.00 92.04 Disposal of Ashes N/A MM 60.00 75.00 135.00 92.05 Damaging Fire Equipment N/A MM 100.00 75.00 175.00 92.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 92.36 Structures N/A <th>91.11</th> <th>Certificate of Rabies Inoculation</th> <th>N/A</th> <th>MM</th> <th>100.00</th> <th>75.00</th> <th>175.00</th>	91.11	Certificate of Rabies Inoculation	N/A	MM	100.00	75.00	175.00
91.14	91.12	Failure to Show Certificate	N/A	MM	100.00	75.00	175.00
91.15 Capturing Squirrels or Birds N/A MM 60.00 75.00 135.00 91.16 Reporting Escape of Certain Animals 2927.21 M-1 COURT COURT COURT 91.17 Hunting/Trapping Animals Prohibited N/A M-3 COURT COURT COURT 92.02 Trap Door Required N/A MM 60.00 75.00 135.00 92.03 Stove Pipes N/A MM 60.00 75.00 135.00 92.04 Disposal of Ashes N/A MM 60.00 75.00 135.00 92.05 Damaging Fire Equipment N/A MM 100.00 75.00 175.00 92.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 92.36 Structures N/A MM 100.00 75.00 175.00 92.37 Fire Alarm Maintenance N/A 500.00 500.00 75.00 575.00 93.01 Garbage; Collection N/A	91.13	Dog Exposed to Rabies	N/A	MM	100.00	75.00	175.00
91.15 Capturing Squirrels or Birds N/A MM 60.00 75.00 135.00 91.16 Reporting Escape of Certain Animals 2927.21 M-1 COURT COURT COURT 91.17 Hunting/Trapping Animals Prohibited N/A M-3 COURT COURT COURT 92.02 Trap Door Required N/A MM 60.00 75.00 135.00 92.03 Stove Pipes N/A MM 60.00 75.00 135.00 92.04 Disposal of Ashes N/A MM 60.00 75.00 135.00 92.05 Damaging Fire Equipment N/A MM 100.00 75.00 175.00 92.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 92.36 Structures N/A 500.00 500.00 75.00 175.00 92.37 Fire Alarm Maintenance N/A 500.00 500.00 75.00 575.00 93.01 Garbage; Collection N/A </th <th>91.14</th> <th>Injuring Squirrels or Birds</th> <th>N/A</th> <th>MM</th> <th>60.00</th> <th>75.00</th> <th>135.00</th>	91.14	Injuring Squirrels or Birds	N/A	MM	60.00	75.00	135.00
91.17 Hunting/Trapping Animals Prohibited N/A M-3 COURT COURT COURT 92.02 Trap Door Required N/A MM 60.00 75.00 135.00 92.03 Stove Pipes N/A MM 60.00 75.00 135.00 92.04 Disposal of Ashes N/A MM 60.00 75.00 135.00 92.05 Damaging Fire Equipment N/A MM 100.00 75.00 175.00 92.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 92.36 Structures N/A 500.00 500.00 75.00 175.00 92.37 Fire Alarm Maintenance N/A 500.00 500.00 75.00 575.00 93.01 Garbage; Collection N/A MM 50.00 75.00 125.00 93.02 Nuisance/Hazard About Property Prohibited N/A MM 90.00 75.00 135.00 93.03 Dumping Ground N/A	91.15		N/A	MM	60.00	75.00	135.00
92.02 Trap Door Required N/A MM 60.00 75.00 135.00 92.03 Stove Pipes N/A MM 60.00 75.00 135.00 92.04 Disposal of Ashes N/A MM 60.00 75.00 135.00 92.05 Damaging Fire Equipment N/A MM 100.00 75.00 175.00 92.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 Smoke Alarms Required in Multi-Family Smoke Alarms Required in Multi-Family N/A 500.00 500.00 75.00 975.00 <t< th=""><th>91.16</th><th>Reporting Escape of Certain Animals</th><th>2927.21</th><th>M-1</th><th>COURT</th><th>COURT</th><th>COURT</th></t<>	91.16	Reporting Escape of Certain Animals	2927.21	M-1	COURT	COURT	COURT
92.03 Stove Pipes N/A MM 60.00 75.00 135.00 92.04 Disposal of Ashes N/A MM 60.00 75.00 135.00 92.05 Damaging Fire Equipment N/A MM 100.00 75.00 175.00 92.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 92.36 Smoke Alarms Required in Multi-Family N/A 500.00 500.00 75.00 575.00 92.37 Fire Alarm Maintenance N/A 500.00 500.00 75.00 575.00 93.01 Garbage; Collection N/ MM 50.00 75.00 125.00 93.02 Nuisance/Hazard About Property Prohibited N/A MM 90.00 75.00 135.00 93.03 Dumping Ground N/A MM 60.00 75.00 135.00 93.04 Dumping Ground N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions	91.17	Hunting/Trapping Animals Prohibited	N/A	M-3	COURT	COURT	COURT
92.04 Disposal of Ashes N/A MM 60.00 75.00 135.00 92.05 Damaging Fire Equipment N/A MM 100.00 75.00 175.00 92.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 Smoke Alarms Required in Multi-Family N/A 500.00 500.00 75.00 575.00 92.36 Structures N/A 500.00 500.00 75.00 575.00 92.37 Fire Alarm Maintenance N/A 500.00 500.00 75.00 575.00 93.01 Garbage; Collection N/A MM 50.00 75.00 125.00 93.02 Nuisance/Hazard About Property Prohibited N/A MM 60.00 75.00 125.00 93.03 Dumping Ground N/A MM 60.00 75.00 135.00 93.04 Dumping N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A	92.02	Trap Door Required	N/A	MM	60.00	75.00	135.00
92.05 Damaging Fire Equipment N/A MM 100.00 75.00 175.00 92.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 Smoke Alarms Required in Multi-Family Structures N/A 500.00 500.00 75.00 575.00 92.36 Structures N/A 500.00 500.00 75.00 575.00 93.01 Garbage; Collection N/A MM 500.00 75.00 75.00 125.00 93.02 Nuisance/Hazard About Property Prohibited N/A MM 90.00 75.00 125.00 93.03 Dumping Ground N/A MM 60.00 75.00 135.00 93.04 Dumping N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 93.10 Weeds and Grass N/A MM 60.00 75.00 135.00 93.11 Cutting of Trees- Notice	92.03	Stove Pipes	N/A	MM	60.00	75.00	135.00
92.21 Fireworks- Sale or Use Prohibited N/A MM 100.00 75.00 175.00 Smoke Alarms Required in Multi-Family Smoke Alarms Required in Multi-Family N/A 500.00 500.00 75.00 575.00 92.37 Fire Alarm Maintenance N/A 500.00 500.00 75.00 575.00 93.01 Garbage; Collection N/ MM 50.00 75.00 125.00 93.02 Nuisance/Hazard About Property Prohibited N/A MM 90.00 75.00 165.00 93.03 Dumping Ground N/A MM 60.00 75.00 135.00 93.04 Dumping N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 93.06 Depositing Litter on Public/Private Property N/A MM 60.00 75.00 135.00 93.10 Weeds and Grass N/A MM 60.00 75.00 135.00 93.11	92.04	Disposal of Ashes	N/A	MM	60.00	75.00	135.00
Smoke Alarms Required in Multi-Family Structures N/A 500.00 500.00 75.00 575.00 92.37 Fire Alarm Maintenance N/A 500.00 500.00 75.00 575.00 93.01 Garbage; Collection N/ MM 50.00 75.00 125.00 93.02 Nuisance/Hazard About Property Prohibited N/A MM 90.00 75.00 165.00 93.03 Dumping Ground N/A MM 60.00 75.00 135.00 93.04 Dumping N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 93.06 Depositing Litter on Public/Private Property N/A M-3 COURT COURT COURT 93.10 Weeds and Grass N/A MM 60.00 75.00 135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM 75.00 75.00 135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM 75.00 75.00 150.00 94.03 Loud Noises N/A MM 75.00 75.00 150.00 95.03 Playing in Streets and Parks N/A MM 60.00 75.00 135.00 95.04 Use of Streets for Entertainment N/A MM 60.00 75.00 135.00 95.05 Riding Animals on Sidewalks N/A MM 60.00 75.00 135.00	92.05	Damaging Fire Equipment	N/A	MM	100.00	75.00	175.00
92.36 Structures N/A 500.00 500.00 75.00 575.00 92.37 Fire Alarm Maintenance N/A 500.00 500.00 75.00 575.00 93.01 Garbage; Collection N/ MM 50.00 75.00 125.00 93.02 Nuisance/Hazard About Property Prohibited N/A MM 90.00 75.00 165.00 93.03 Dumping Ground N/A MM 60.00 75.00 135.00 93.04 Dumping N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 93.06 Depositing Litter on Public/Private Property N/A M-3 COURT COURT COURT 93.10 Weeds and Grass N/A MM 60.00 75.00 135.00 93.11 Cutting of Trees- Notice N/A MM 60.00 75.00 135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns	92.21	Fireworks- Sale or Use Prohibited	N/A	MM	100.00	75.00	175.00
92.37 Fire Alarm Maintenance N/A 500.00 500.00 75.00 575.00 93.01 Garbage; Collection N/ MM 50.00 75.00 125.00 93.02 Nuisance/Hazard About Property Prohibited N/A MM 90.00 75.00 165.00 93.03 Dumping Ground N/A MM 60.00 75.00 135.00 93.04 Dumping N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 93.06 Depositing Litter on Public/Private Property N/A M-3 COURT COURT COURT 93.10 Weeds and Grass N/A MM 60.00 75.00 135.00 93.11 Cutting of Trees- Notice N/A MM 60.00 75.00 135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM 75.00 75.00 150.00 94.02 Smoke N/		Smoke Alarms Required in Multi-Family					
93.01 Garbage; Collection N/ MM 50.00 75.00 125.00 93.02 Nuisance/Hazard About Property Prohibited N/A MM 90.00 75.00 165.00 93.03 Dumping Ground N/A MM 60.00 75.00 135.00 93.04 Dumping N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 93.06 Depositing Litter on Public/Private Property N/A MM 60.00 75.00 135.00 93.10 Weeds and Grass N/A MM 60.00 75.00 135.00 93.11 Cutting of Trees- Notice N/A MM 60.00 75.00 135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM 75.00 75.00 150.00 94.02 Smoke N/A MM 75.00 75.00 150.00 94.03 Loud Noises N/A <	92.36	Structures	N/A	500.00	500.00	75.00	575.00
93.02 Nuisance/Hazard About Property Prohibited N/A MM 90.00 75.00 165.00 93.03 Dumping Ground N/A MM 60.00 75.00 135.00 93.04 Dumping N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 93.06 Depositing Litter on Public/Private Property N/A M-3 COURT MA MM 60.00 75.00 135.00 93.11 Cutting of Trees- Notice N/A MM MM 75.00 75.00 150.00 94.02 Smoke N/A MM 75.00 75.00	92.37	Fire Alarm Maintenance	N/A	500.00	500.00	75.00	575.00
93.03 Dumping Ground N/A MM 60.00 75.00 135.00 93.04 Dumping N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 93.06 Depositing Litter on Public/Private Property N/A M-3 COURT MM 60.00 75.00 135.00 135.00 93.11 Cutting of Trees- Notice N/A MM MM 60.00 75.00 135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM 75.00 75.00 150.00 94.02 Smoke N/A MM 75.00 75	93.01	Garbage; Collection	N/	MM	50.00	75.00	125.00
93.04 Dumping N/A MM 60.00 75.00 135.00 93.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 93.06 Depositing Litter on Public/Private Property N/A M-3 COURT MA 60.00 75.00 135.00 135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns N/A	93.02	Nuisance/Hazard About Property Prohibited	N/A	MM	90.00	75.00	165.00
93.05 Prohibition of Nuisance Conditions N/A MM 60.00 75.00 135.00 93.06 Depositing Litter on Public/Private Property N/A M-3 COURT MA 60.00 75.00 135.00 P135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns N/A M/A MM 75.00 75.00 150.00 150.00 94.02 Smoke N/A M/A M/A M/A M/A M/A <	93.03	Dumping Ground	N/A	MM	60.00	75.00	135.00
93.06 Depositing Litter on Public/Private Property N/A M-3 COURT COURT COURT 93.10 Weeds and Grass N/A MM 60.00 75.00 135.00 93.11 Cutting of Trees- Notice N/A MM 60.00 75.00 135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM 75.00 75.00 150.00 94.02 Smoke N/A MM 75.00 75.00 150.00 94.03 Loud Noises N/A MM 75.00 75.00 150.00 95.03 Playing in Streets and Parks N/A MM 60.00 75.00 135.00 95.04 Use of Streets for Entertainment N/A MM 60.00 75.00 135.00 95.05 Riding Animals on Sidewalks N/A MM 60.00 75.00 135.00	93.04	Dumping	N/A	MM	60.00	75.00	135.00
93.10 Weeds and Grass N/A MM 60.00 75.00 135.00 93.11 Cutting of Trees- Notice N/A MM 60.00 75.00 135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM 75.00 75.00 150.00 94.02 Smoke N/A MM 75.00 75.00 150.00 94.03 Loud Noises N/A MM 75.00 75.00 150.00 95.03 Playing in Streets and Parks N/A MM 60.00 75.00 135.00 95.04 Use of Streets for Entertainment N/A MM 60.00 75.00 135.00 95.05 Riding Animals on Sidewalks N/A MM 60.00 75.00 135.00	93.05	Prohibition of Nuisance Conditions		MM	60.00	75.00	135.00
93.11 Cutting of Trees- Notice N/A MM 60.00 75.00 135.00 94.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM 75.00 75.00 150.00 94.02 Smoke N/A MM 75.00 75.00 150.00 94.03 Loud Noises N/A MM 75.00 75.00 150.00 95.03 Playing in Streets and Parks N/A MM 60.00 75.00 135.00 95.04 Use of Streets for Entertainment N/A MM 60.00 75.00 135.00 95.05 Riding Animals on Sidewalks N/A MM 60.00 75.00 135.00	93.06	Depositing Litter on Public/Private Property	N/A	M-3	COURT	COURT	COURT
94.01 Cellar Doors, Drains, Wells, and Cisterns N/A MM 75.00 75.00 150.00 94.02 Smoke N/A MM 75.00 75.00 150.00 94.03 Loud Noises N/A MM 75.00 75.00 150.00 95.03 Playing in Streets and Parks N/A MM 60.00 75.00 135.00 95.04 Use of Streets for Entertainment N/A MM 60.00 75.00 135.00 95.05 Riding Animals on Sidewalks N/A MM 60.00 75.00 135.00					60.00		
94.02 Smoke N/A MM 75.00 75.00 150.00 94.03 Loud Noises N/A MM 75.00 75.00 150.00 95.03 Playing in Streets and Parks N/A MM 60.00 75.00 135.00 95.04 Use of Streets for Entertainment N/A MM 60.00 75.00 135.00 95.05 Riding Animals on Sidewalks N/A MM 60.00 75.00 135.00		Cutting of Trees- Notice		MM	60.00		
94.03 Loud Noises N/A MM 75.00 75.00 150.00 95.03 Playing in Streets and Parks N/A MM 60.00 75.00 135.00 95.04 Use of Streets for Entertainment N/A MM 60.00 75.00 135.00 95.05 Riding Animals on Sidewalks N/A MM 60.00 75.00 135.00	94.01	Cellar Doors, Drains, Wells, and Cisterns	N/A	MM	75.00		
95.03 Playing in Streets and Parks N/A MM 60.00 75.00 135.00 95.04 Use of Streets for Entertainment N/A MM 60.00 75.00 135.00 95.05 Riding Animals on Sidewalks N/A MM 60.00 75.00 135.00				MM			
95.04 Use of Streets for Entertainment N/A MM 60.00 75.00 135.00 95.05 Riding Animals on Sidewalks N/A MM 60.00 75.00 135.00				MM	75.00		
95.05 Riding Animals on Sidewalks N/A MM 60.00 75.00 135.00		Playing in Streets and Parks		MM	60.00		
		Use of Streets for Entertainment		MM			135.00
95.06 Obstructing Gutters N/A MM 60.00 75.00 135.00		Riding Animals on Sidewalks		MM			135.00
	95.06	Obstructing Gutters	N/A	MM	60.00	75.00	135.00

95.07	Obstructing Sidewalks	N/A	MM	60.00	75.00	135.00
95.08	Excavations, Restoration	N/A	MM	60.00	75.00	135.00
95.09	Obstructing Streets	N/A	MM	60.00	75.00	135.00
95.10	Excavations to be Lighted, Barricades	N/A	MM	60.00	75.00	135.00
95.11	Signs Over Sidewalks or Streets	N/A	MM	60.00	75.00	135.00
95.12	Erection of Sign in Public Place	N/A	MM	60.00	75.00	135.00
95.13	Signs at Railroad Crossings	N/A	MM	60.00	75.00	135.00
95.14	Signs at Cross Streets	N/A	MM	60.00	75.00	135.00
95.15	Signs on Residential Streets	N/A	MM	60.00	75.00	135.00
95.17	Damaging Avenues or Public Grounds	N/A	MM	60.00	75.00	135.00
95.18	Sidewalks To Be Kept Clean	N/A	MM	60.00	75.00	135.00
95.19	Sidewalks Kept Clean	N/A	MM	60.00	75.00	135.00
96.01	Regulations Limiting The Times That Parks	N/A	MM	100.00	75.00	135.00
	May Be Occupied					
96.02	Park Rules and Regulations	N/A	M4	COURT	COURT	COURT
110.01	Peddlers/Solicitors Prohibited	N/A	MM	60.00	75.00	135.00
132.01	Disorderly Conduct	2917.11	MM	120.00	75.00	195.00
			M4	COURT	COURT	COURT
132.11	Unlawful Display of Law Enforcement	2913.441	MM	120.00	75.00	195.00
126.05	Emblem	2021.22	3.43.4	120.00	75.00	105.00
136.07	Failure To Aid Law Enforcement Officer	2921.23	MM	120.00	75.00	195.00
138.05H3	Marijuana Paraphernalia	2925.141	MM	120.00	75.00	195.00
120.10	Drug Abuse (<100 grams of Marijuana,	2025 11	3.63.6	120.00	75.00	105.00
138.10	<5 grams of Hashish)	2925.11	MM	120.00	75.00	195.00
139.02	Unvented Heaters	3701.82	M-1	COURT	COURT	COURT
139.03	Abandoned Refrigerators	3767.29	MM	90.00	75.00	165.00
139.04	Maintaining a Nuisance	3767.13	M-3	COURT	COURT	COURT
153	Regulations Established	N/A	MM	100.00	75.00	175.00
154.04	Compliance with Zoning Regulations	N/A	MM	120.00	75.00	195.00
154.21	Use Regulations	N/A	MM	120.00	75.00	195.00
154.26	Parking Regulations	N/A	MM	120.00	0	120.00
154.27	Signs in Residential Districts	N/A	MM	120.00	75.00	195.00
154.31	Commercial Use Regulations	N/A	MM	120.00	75.00	195.00
154.36	Commercial Parking Regulations	N/A	MM	120.00	75.00	195.00

154.37	Commercial Sign Regulations	N/A	MM	120.00	75.00	195.00
154.51	Additional Use Regulations	N/A	MM	120.00	75.00	195.00
154.56	Additional Parking and Loading	N/A	MM	120.00	0	120.00
	Regulations					
155.04	Standards for Residential Occupancy	N/A	M-4	COURT	COURT	COURT
156.04	Maintenance of Exterior Property Areas	N/A	M-4	COURT	COURT	COURT
156.05	Maintenance of Exterior of Structures	N/A	MM	60.00	75.00	135.00
156.06	Maintenance of Interior of Structures	N/A	MM	60.00	75.00	135.00

Penalties:
For most traffic charges:
If, within one year of the offense, the offender previously has been convicted of or pleaded guilty to one predicate motor vehicle or traffic offense, a misdemeanor of the fourth degree.
If, within one year of the offense, the offender previously has been convicted of or pleaded guilty to two or more predicate motor vehicle or traffic offenses, a misdemeanor of the third degree.
For speeding charges:
If, within one year of the offense, the offender has been convicted of or pleaded guilty to two (2) violations of any provision of Section 73.10 (A) through (I) a misdemeanor of the fourth degree.

If, within one year of the offense, the offender has been convicted of or pleaded guilty to three (3) or more violations of any provision

These provisions also apply to State Code and/or any municipal ordinance that is substantially equivalent to provisions of Section

of Section 73.10 (A) through (I) a misdemeanor of the third degree.

73.10 (A) through (I).